
1)	 Circle the fractions which are smaller than    ? 

A                          B                                            C

2)	 Circle the fractions which are larger than    ?  

A                          B                                            C 

3)	 a)   Look at the bar models below. Write the largest fraction shown.

�

b)	 Look at the bar models below. Write the smallest fraction shown.

�  
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D 

4)	 Which fraction is the largest? Prove your answer using bar models.�  
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1)	 Do you agree with Sophia? Explain your reasoning.

�

�  

2)	 Two children are comparing fractions.

Who do you agree with? Use a bar model to explain your answer.

�

 

3)	 A bar model is shaded to show a fraction.

 

a)	 On the bar model below, draw and shade a larger fraction.

 

b)	 Explain how you know that your fraction is larger than the original.

�

�  

�  

�

    is smaller than   . 1 
12
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None of the fractions 
are equivalent to   .

I think that one of the 
fractions is equivalent to   .
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1)	 Choose two of the following digits to make the number sentence true. (The fraction you make must be 
less than 1 whole.) How many number sentences can you create?

2)	 Choose two of the following digits to make the number sentence true. (The fraction you make must be less than 1 
whole.) How many number sentences can you create?

 

3)	 Two friends each have a bag of sweets and discuss who will eat the most.

Which of the two friends is correct? Use reasoning to explain your answer.
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Marc Jacqui

If I eat    of the sweets, 
I will eat the most.

If I eat    of the sweets, I 
will eat the most because 
6 is larger than 3.
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